A=
F272[A] 2025F1 H12H(H)
2 8 BEATRIFARAY —h-T—/L TSN
% B KEN-KETHEZES
* . b7 —X

T FHRSEH 7 v K N SN
7 I B 10km 1 290 E H B H 425504%
8 HIE B 10km 2 418 ORI 4253320
9 BIE B 10km 3 135Q SEOBOE N 474108
10 ZH1E 1 10km 4 551 W oW = 4753308
11 ZF1%8 B4 10km 5 250 M M B 5055308
1 3 BT Skm 1 267 o B 2455108
2 E3E %1 5km 2 300 M W OB — 245248
3 3 B Skm 3 1390 # 1l Z # 255303%
4 F3E B 5km 4 136 O K WN 31T 25502680
5 4% #f 5km 1 445 ol B 26433680
6 a8 A& 5km 2 320 & A 265428
12 F6E Yax v/ O 310 M H =T 0
13 F6E Yax o/ O 200 HFZAK K ——
14 65 Va7 O 118 O i H & —
15 HTE EE AKXy T 20 B M = FlERsk
16 HBETH EEAXYT 117 O % J W EtEF
17 HETE EEAYYT 88 O @/ M 7w & oa—RAFHE
18  FHTE EE AT 50 W) ®AF HANEH
19 FETE EE ALYy T 180 #H W1+ B
20 BBETH GEEAZYT 16 O & A AZ—ZJHH

’

9y KRB SRE:45°C




